Algebra II								Name _____________________________
Notes WS 5.11 B -Solving Linear Quadratic Systems using the Quadratic Formula

Remember how to simplify radicals?
To simplify a radical, factor the expression under the radical sign to its prime factors.  For every pair of like factors, bring out one of the factors.  Multiply whatever is outside the sign, then multiply whatever is inside the sign.  Remember that for each pair, you “bring out” only one of the numbers.  




2   2                                                                                                 3    3









Remember the Quadratic Formula?


One of the methods for solving a quadratic equation () is using the quadratic formula:





This method works for every quadratic equation!  

To use the quadratic formula the equation must be in standard form:  

When to use the quadratic formula…
· When you can’t factor the equation
· When you don’t have a graphing calculator






Solve each quadratic equation using the quadratic formula.   




Ex 1. 			       Ex 2.  			  	Ex 3.  














Solve each system using the quadratic formula.  Verify by graphing on the calculator.




EX  4. 		        EX  5.  			EX  6.  
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WS 5.11 B -Solving Linear Quadratic Systems using the Quadratic Formula 

Solve each system algebraically.  Use the quadratic formula if needed.  Solve these problems on a separate sheet of paper.  Show your work!



1.   			2.   			3.     	







4.   			5.   			6.     	







7.   			8.   			9.     	







10.   		11.   			12.     	







13.   			14.   		15.     	







16.   		17.   			18.     	







19.   		20.   		21.     	
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                        72      10      
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       3   3   3  2                     

   3    5    2   5                      

     9     8      2    5

                     27                 

          32 x 3 = 36                 53

x2 = 56         

            3   3    2   2   2    2   5

Simplify completely:

1.  27                   2.  32         

              3.  50                    

  4.  80                            5. 7

2

6.  120             

             7.   68                    

    8.  200                      9.  180

                        10.  275    

11.   312                        12.   5

48                  13.  776            

    

     14.  854                    15.   5
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